

4月25日 糸2 7H 12/7 入 17

$$1. = 2 + 2 \frac{2}{5} \times \frac{1}{5}$$
$$I \quad t \neq 1 \quad \text{とある}.$$

$$T_N = 1 + 2 \cdot r + 3r^2 + \dots + Nr^{N-1} = ?$$

$$T_N = 1 + 2r + 3r^2 + \dots + Nr^{N-1}$$

$$1 + T_2 = 1 + 2r^2 + \dots + (n-1)r^{2-1} + nr^2$$

$$(1-r) T_N = 1 + r + r^2 + \dots + r^{N-1} - N r^N$$

$$b. \bar{S} = \frac{1 - r^2}{1 - r} - 2r^2$$

$$2'' \text{ 3.} = 12 \text{ 0.5}$$

$$T_2 = \frac{1 - r^2}{(1-r)^2} - \frac{2r^2}{1-r}$$

$$\text{II} \quad a_{n+1} = \frac{1}{4} a_n + 2$$

$$\sum \{a_n\} \text{ on } \frac{\pi}{(n)} T = 3 \text{ e } 2 \quad \lim_{n \rightarrow +\infty} a_n = \frac{1}{2} \times 1.$$

$$\lambda = \frac{1}{4} A + 2$$

$$\sum_{i=1}^5 \lambda_i^2 < 2 \quad \lambda = \frac{8}{3} \quad 2^{\text{nd}} \text{ case}$$

$$a_{n+1} = \frac{1}{4} a_n + 2$$

$$\lambda = \frac{1}{4} \lambda + 2$$

$$a_{n+1} - \lambda = \frac{1}{4}(a_n - \lambda)$$

$T_2, \frac{1}{2} T_2, \frac{1}{4} T_2, \dots$

$$\{a_{n+1} - \frac{3}{8}\}$$

[illegible]

$$a_n - \frac{\sigma}{3} = \left(\frac{1}{4}\right)^n \left(a_0 - \frac{\sigma}{3}\right)$$

$\tau \in \mathbb{Z}$. $\tau, 2$

$$a_n = \frac{8}{3} + \left(\frac{1}{4}\right)^n \left(a_0 - \frac{8}{3}\right)$$

$$\longrightarrow \frac{8}{3} + 0 \times (a_0 - \frac{8}{3}) = \frac{8}{3}$$